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2 digit x 1 digit 




23 x 2 =
	x

	20
	3

	2

	
	




32 x 3 =
	x

	30
	2

	3

	
	



22 x 3
	x

	20
	2

	3

	
	


The Grid Method for Multiplication
2 digit x 1 digit 



42 x 2 =
	x

	40
	2

	2

	
	




33 x 3=
	x

	30
	3

	3

	
	



41 x 2=
	x

	40
	1

	2

	
	



The Grid Method for Multiplication
2 digit x 1 digit 


42 x 3=
	x

	40
	2

	3

	
	



23 x 5=
	x

	20
	3

	5

	
	



34 x 5=
	x

	30
	4

	5

	
	



The Grid Method for Multiplication
2 digit x 1 digit 



62 x 2 =
	x

	60
	2

	2

	
	



72 x 3 =
	x

	70
	2

	3

	
	



55 x 5 =
	x

	50
	5

	5

	
	


	
The Grid Method for Multiplication
2 digit x 1 digit 



25 x 5 =
	x

	
	

	

	
	



46 x 3 =
	x

	
	

	

	
	



38 x 2 =
	x

	
	

	

	
	


The Grid Method for Multiplication
2 digit x 1 digit 



36 x 5 =
	x

	
	

	

	
	



44 x 4 =
	x

	
	

	

	
	



52 x 5 =
	x

	
	

	

	
	



